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Reg. No:

FOURTH SEMESTER (CBCSS——-UG) DEGREE EXAMINATION
' - ‘APRIL 2021

Common Course

A 13—DATA COMMUNICATION AND OPTICAL FIBERS

'I‘wo Hours and a Half L‘ | o - anmum 80 Marks |

Section A

Answer at least ten q'ru'estibns; |
- Each question carries 3.mar__ks\é~ P
S Al qizestions can be ‘attended. Lt
Querall Cetlmg 30.

How i is topology related to line conﬁguratlon ?

‘Why is _synchromzatlon a pmblem in data communica_tiori 7

‘}".""ha_t are the functions of DCE ‘I'Givé an example of a DCE_. )

I_rIow does FDM combine multiple signals to 6ne ?

What is the advantage of asynchrt;nous TDM ?

How can the capac1ty of a GSM cell be increased ?

What are the reasons for the delays i m a GSM 8 y‘atem for packet data traftic 7 9
What is the purpose of line dlsclpllne ? o

In what situation dbes the sender -re,-'transm_it a packet '?

What are the uées of BSO _cOntfol‘ framés ?

What are thé advantages of FDDI over a basic T.oken ring ?

What is the hasm principle of propagation of llght through the ﬁber ? _
What is a double heterostructure ?

Define dark: current as applied toa photo-detector ?

Define mode ﬁéld diameter.

(10 x 3 = 30 marks)
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: . | Seetion B
:Answer at least five ‘questions..
Each questwn carrzes 6 marks.

' All questions’ can be attended.
Ouerall Cezlmg 30.

_ ‘What are the four dlfferent methods that‘i:onvert a dlg‘ltal s:gnal to analog mgnal 9

oy
)

Wrxte anote on tw1sted palr cables. | B . ' S .
Explam in detall synchronous TDM

What are the two basm groups of log1ca1 channels specified by GSM ? .

‘What are the two methods that control the ﬂow of data across the commumcatlon links.

In HDLC what is b1t stufﬁng and why 1s 1t needed ‘?

'What are the advantages of optical ﬁber commumr'atlons ?

Distlngulsh between LEDs and LASERS _

(5 % 6 = 30 marks!

Sl'e'c'ti‘on C

L o - Answer any two questions.
. Each question carries 10 marks
_Explam the dlﬂ"erent network topologles . . o : s

Explain the GSM system archltecture._

‘Explain the three switching methods.

What aj‘e _-the different types of fibers used in optical fiber communications ?

(2x10= 2.0‘ma'rks_)




